	The pedigree shows hitchhiker's thumb for Jack, Jill, their children and their grandchildren.  Hitchhiker's thumb is an autosomal recessive condition (tt = hitchhiker's thumb, T = non-hitchhiker's thumb). [image: image1.png]9 |_J | show: _Hivhhiker's tumb v QHiwhhiker's thomb G Non-hirhhiker's
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How come none of Jack and Jill's kids have hitchhiker's thumb but one of their grandchildren does??? 
  Here are some questions that will help you get started: 
1.       What is Jim's genotype for hitchhiker's thumb?  Circle the right answer. 
TT     Tt     tt     T-     t- 
2.       What must Erica's and Bob's genotypes be?  Circle the right answer.  

TT     Tt     tt     T-     t-
3.       What is Jack's genotype for hitchhiker's thumb?         TT     Tt     tt     T-     t-
4.       What is Jill's genotype for hitchhiker's thumb likely to be? (Hint: none of their children has the trait.)                 TT     Tt     tt     T-     t-
5.       If Jack and Jill have 12 more children, how many do you think will have hitchhiker's thumb? (circle one)    None        3 or 4      About half         All of them 

 

6.       If Erica and Bob have 12 more children, how many do you think will have hitchhiker's thumb? (circle one) 

None      3 or 4       About half         All of them 
Look at the pedigree below.  Which best describes the inheritance pattern in the following pedigree (it is a pedigree of taste blindness)?   It will help if you write the possible genotypes next to each afflicted (meaning, in this case, “diseased”) individual.
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Albinism is inherited as an autosomal recessive. In the figure below, assuming that persons from the general population are not heterozygous for albinism (Aa), what are the genotypes of all persons whose genotypes are known? (i.e., indicate the genotypes on the figure for all known AA, Aa, and aa individuals.) 
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